JL_

Finding Division Remainders

Name:

Use multiplication rulesto determine the missing remainder for each problem.

1) 937+-2=1468T

3) 9,032-5=1,806T

5 2,426+2=1,213r

7) 484+5=96r

9 5232:5=1,046T1

11) 4,412-2=2,206r

13) 2,623+10=262r

15 95+10=9r

17) 8,491+10=849r

19 51+10=5r

2) 62+10=67r

4 90+10=9r

Answers
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4,
6) 8,405+2=4,202r :
6.
8) 66+10=6T ,
8.
10) 28-5=57 o
10.
12) 70:2=35r
— 11.
12.
14) 103+5=20r
— 13.
14.
16) 9,201+2=4,600r s
16.
18) 9,329+2=4664r 17
18.
20 =10 =
) 167+-10=167r 1.
20.
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C:h Finding Division Remainders Name: Answer Key

Use multiplication rulesto determine the missing remainder for each problem. Answers
1) 937+2=468r 1 2) 62+10=6r1 2 1
1.
2 2
3) 9,032+5=1,806r 2 4) 90+10=9r O 5
3
4 0]
5 2426+2=1,213r 0 6) 8,405+2=4,202r 1 : 0
6 1
7) 484+5=96r1r 4 8 66+10=6r 6 , 4
8 6
9 5232+5=1,0461r 2 10) 28+5=5r 3 o 2
10. 3
11) 4,412+2=2206r O 12) 70+2=35r 0 " 0
12 0
13) 2,623+10=262r 3 14) 103+5=20r 3 3 3
14. 3
15) 95+10=9r 5 16) 9,201+2=4,600r 1 5 5
16. 1
17) 8,491+10=849r 1 18) 9,329-2=46641r 1 17 1
18. 1
19) 51+10=5r 1 20) 167+10=16r 7 19 1
20. !
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